Answer key for the midterm in 2012
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Treat as Student t with T — 3 degrees of freedom. Thisisonly an approximation since x; includes the
lagged value of y.

c.) SSRy isT - 3times 62 above. To calculate SSRy estimate

= @Yt + a(Zt — 1) + &t

and treat
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asF(1,T-3). TheF satisticin (c) isexactly equal to the square of thet statistic in (b).
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wherez ~ N(0,S). Thus
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b.) ao and v, are the values for which E(yy — a — yya)? are smallest, that is, they are the
population parameters that would provide the best linear predictor of y1: given yz.




